CoteMotion

M A DZE | N GERMANY

Put the 8 bearing surface modules Now remove the supporting film from Connect the two aluminum quad tubes Then fix the self-tapping screws (4.2 x
together until they fix with a, click” the EVA mat and glue them to the into the corresponding openings of the 16 mm) with a 7 mm jaw wrench and a
sound. center of the wheel. There are about 3-4 two stand modules. Fix the self-tapping washer on the inside.
mm of space on each side of the EVA screws (4.2 x 16 mm) with ) )
Then you need to cor_mect them to each mat. If necessary trim the last part of a7 mm jaw wrench and a washer on Now you just need to lift the wheel onto
other by the connecting screws (M6 x 16 the EVA mat before pasting it the outside. the stand.

mm) and the corresponding screw nuts
(M6). As tools you need a 4 mm hex
wrench and a 10 mm jaw wrench.

Hand-tighten and please
do not use a cordless
screwdriver, other-
wise there is a risk of
[ breakage. [

art list

pearing surface modules
stand modules (indl. rolls)

1
: aluminium quad tubes (94 cn? e
3 EVA-mat pearing surface (self-a
4. -
5. connectin
6
1
8

g SCrews (M6 %16 mm)
screw nuts (M6)

self-tapping screws (4,

washers )
pdditionally nee‘
10 mm and 7 mm jaw wrendh.

2x16mm)

ed: 4 mm hex wrench anda

Ein Familienmitglied der

WAGNER'S

Leopold-Hoesch-Str. 23 - 52511 Geilenkirchen/GERMANY - service: +49 (24 51) 69 33 30 2 PE;:SSEUCTS
A



